Soustraction Avec Un Zéro (B)

Calculez la différence.

2000 8000 2000 2000
- 996 - 5586 -941 - 559
4000 3000 8 000 1000
- 465 -2 061 -2 575 -221
5000 1000 8 000 3 000
-803 - 789 - 556 -1659
6 000 4 000 4000 5000
-2430 - 601 -1446 -23802
9000 4000 8 000 9000
-4 317 -1316 -5484 -7 223
4000 3000 9000 4000
-2956 -179 - 8484 -3 041
2000 8000 2000 4000
- 690 -3050 - 1881 -2944
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Soustraction Avec Un Zéro (B) Réponses

2000
- 996

1004

4000
- 465

3535

5000
-803

4197

6 000
-2430

3570

9000
-4 317

4 683

4000
-2956

1044

2000
- 690

1310

Calculez la différence.

2000
- 559

1441

1000
-221

779

3 000
-1659

1341

5000
-23802

2198

9000
-7 223

1777

4 000
- 3041

8000 2000
- 5586 -941
2414 1059
3000 8 000
-2 061 -2 575

939 5425
1000 8 000
- 789 - 556

211 7 444
4 000 4000
- 601 -1446
3399 2 554
4000 8 000
-1316 -5484
2 684 2516
3000 9000
-179 - 8484
2821 516
8000 2000
-3050 - 1881
4950 119

959

4000
- 2944

1056
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